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First Determine if the Sequence is Geometric. Then answer the question it is requesting
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5. Given 2 ferms in the geometric sequ'énce,
find the formula
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Write the equation of the piecewise function

Unit 7 - Mathematical Modeling
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Graph each absolute value function
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Solve each absolute value equation
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Solve each equation for the given variable.
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22. Find the minimum and maximpm values of the objective function subject to the given constraints.
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23. Write the objective function and the constraints for the following problem:
A company manufactures inkjet printers and laser printers. The company can make a total of 40
printers per day, and it has 120 labor-hours per day available. It takes 1 labor-hour to make an
inkjet printer and 3 labor-hours to make a laser printer. The profit is $45 per inkjet printer and $65
per laser printer. How many of each type of printer should the company make to maximize its
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24. A bread shop makes bagels and biscuits for breakfast each morning. The oven at the bread shop
can bake up to 100 bagels and biscuits each morning. Each bagel requires 4 ounces of dough
and each biscuit requires 2 ounces of dough. There are 3460 cunces of dough available each
morning. If the bread shop makes a profit of 25 cents per bagel and 15 cents per biscuit, how
many bagels and how many biscuits should the bread shop make each day to maximize their
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* What did you struggle withe Go on the blog and practice that lesson!1**




